

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

Proc Folder: 1785704

Solicitation Description: Addendum 1: Open-End Contract of Printers and Ink for WVDOT

Proc Type: Agency Master Agreement

 Solicitation Closes
 Solicitation Response
 Version

 2025-09-25 10:30
 SR 0803 ESR09252500000002251
 1

VENDOR

VS0000015925

Software Information Resource Corp

Solicitation Number: ARFQ 0803 DOT2600000020

Total Bid: 46213.5 **Response Date:** 2025-09-25 **Response Time:** 10:30:00

Comments:

FOR INFORMATION CONTACT THE BUYER

Amber J Heath 304-558-0408 amber.j.heath@wv.gov

Vendor Signature X

FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Sep 25, 2025 Page: 1 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	HP OfficeJet Pro 9125E All-in-One Printer or	50.00000	EA	279.170000	13958.50
	equal				

Comm Code	Manufacturer	Specification	Model #	
43212100				

Commodity Line Comments: OFFICEJET PRO 9125E ALL-IN-ONE PRINTER

Country of Origin: TH

Weight: 24.00

Dim Weight: 3, 897.55 (NON-TAA)

Extended Description:

HP OfficeJet Pro 9125E All-in-One Printer or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	2 Year Warranty or Better	50.00000	EA	55.390000	2769.50

Comm Code	Manufacturer	Specification	Model #	
81111818				

Commodity Line Comments: 3YR NBD EXCH W/ENH PH OFFICEJET PRTR-M SVCS (NON-TAA)

Extended Description:

HP OfficeJet Pro 9125E All-in-One Printer 2 Year Warranty Or better

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	HP 936 Original Ink Cartridge 4-pack or equal	50.00000	EA	120.130000	6006.50

Comm Code	Manufacturer	Specification	Model #	
60121718				

Commodity Line Comments: Please note that this is not the actual unit pricing of this items. These includes separate unit cost for each Cyan/

Magent/Yellow and Black Ink. Please see attached D25-H8291 for full details of pricing.

Extended Description:

HP 936 Cyan/Magenta/Yellow/Black Original Ink Cartridge 4-Pack, Part Number 6C3Z5LN or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	HP OfficeJet Pro 9730e Wide Format Printer 11"x17" or equal	50.00000	EA	395.730000	19786.50

Specification Model #	Manufacturer	Comm Code
		43212100
		43212100

Commodity Line Comments: OFFICEJET PRO 9730E WF AIO PRINTER

Country of Origin: N/A

Weight: 52.20

Dim Weight: 10, 682.88 (NON-TAA)

Extended Description:

HP OfficeJet Pro 9730e Wide Format Printer 11"x17" or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	2 Year Warranty or Better	50.00000	EA	73.850000	3692.50

Date Printed: Sep 25, 2025 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Comm CodeManufacturerSpecificationModel #81111818

Commodity Line Comments: 3YR NBD EXCH W/ENH PH OFFICEJET PRTR -H SVCS (NON-TAA)

Extended Description:

HP OfficeJet Pro 9730e Wide Format Printer 11"x17" 2 - Year Warranty or Better

 Date Printed:
 Sep 25, 2025
 Page: 3
 FORM ID: WV-PRC-SR-001 2020/05





730 24th ST NW, STE 3, Washington DC 20037-2500 SIRC is a Women Owned Small Business

Price Quotation

Date:	09/25/2025
Quote No:	D25-H8291
Quote Expires:	10/09/2025
Shipping Point:	FOB DEST
Terms:	Net 30
Shipping Method:	Ground
Pricing:	OPEN MARKET
Lead Time:	2-3 weeks ARO
Payment Method:	EFT
Discount Terms:	NONE
RFQ Number:	ARFQ-0803-DOT2600000020-1

SIRC POC	POC Email	POC TEL	Cage Code	FEIN	DUNS	UEI	URL
Paul Romero	paul.romero@sirc.net	202-536-2800	1PQ53	54-1727076	93-826-5865	EJJMMJHYDFH6	www.sirc.net

Customer Name	Ship To Customer
WVOASIS	WVOASIS
ATTN: Amber J Heath	ATTN: Amber J Heath
DEPT. OF TRANSPORTATION	DEPT. OF TRANSPORTATION
1900 KANAWHA BLVD E,	1900 KANAWHA BLVD E,
BLD. 5 RM-720	BLD. 5 RM-720
CHARLESTON WV 25305 US	CHARLESTON WV 25305 US
Email: amber.j.heath@wv.gov	Email: amber.j.heath@wv.gov
Tel: 304-558-0408	Tel: 304-558-0408

# Item	Item Desc	OM GSA		U/M	Cost USD	Total USD
1 403X0A#B1H	OFFICEJET PRO 9125E ALL-IN-ONE PRINTER Country of Origin: TH Weight: 24.00 Dim Weight: 3, 897.55 (NON-TAA)	OM	50.00	EA	\$279.17	\$13,958.50
2 UQ209E	3YR NBD EXCH W/ENH PH OFFICEJET PRTR-M SVCS (NON-TAA)	OM	50.00	EA	\$55.39	\$2,769.50
3 4S6V0LN	936 MAGENTA ORIGINAL INK CARTRIDGE Country of Origin: MY Weight: 0.10 Dim Weight: 8.13 (NON-TAA)	OM	50.00	EA	\$27.11	\$1,355.50
4 4S6V1LN	936 YELLOW ORIGINAL INK CARTRIDGE Country of Origin: MY Weight: 0.11 Dim Weight: 18.20 (NON-TAA)	OM	50.00	EA	\$25.78	\$1,289.00
5 4S6V2LN	936 BLACK ORIGINAL INK CARTRIDGE Country of Origin: MY Weight: 0.20 Dim Weight: 15.30 (NON-TAA)	OM	50.00	EA	\$40.13	\$2,006.50
6 4S6U9LN	936 CYAN ORIGINAL INK CARTRIDGE CARTRIDGE Country of Origin: MY Weight: 0.15 Dim Weight: 13.95 (NON-TAA)	OM	50.00	EA	\$27.11	\$1,355.50
7 537P6A#B1H	OFFICEJET PRO 9730E WF AIO PRINTER Country of Origin: N/A Weight: 52.20 Dim Weight: 10, 682.88 (NON-TAA)	OM	50.00	EA	\$395.73	\$19,786.50
8 UQ212E	3YR NBD EXCH W/ENH PH OFFICEJET PRTR -H SVCS (NON-TAA)	OM	50.00	EA	\$73.85	\$3,692.50

SIRC Confidential 1/2 D25-H8291

GRAND-	Grand Total:		\$46,213.50
TOTAL			

- *** For better order processing, please reference D25-H8291 when issuing an Order to SIRC ***
- *** We cannot use your shipment account. Third-party shipment account will not be allowed ***

Please note that due to the high discount level extended on this quote, credit cards will not be accepted for this particular pricing structure. If it is requested that payment be made with a credit card, then the above pricing is subject to change and a processing fee will be added. Payment via Purchase Order and WAWF will incur no additional fee.

** NOTE **

No discounts will be provided for early payments.

SIRC does not have an active Facility Clearance

Please note, any software provided in this quote is identified as Commercial Computer Software.

The pricing and discounts being provided in this quote is based off of a complete bill of materials. Any changes to the configuration may cause an overall adjustment to the discount structure. Please contact your sales rep listed on the quote if any configuration changes are needed.

All items are subject to availability. We will make our best efforts to inform you as soon as possible if the goods you have ordered are not available or if shipment may be delayed.

SIRC cannot honor the pricing if quoted item becomes End of Life (EOL)

SIRC CONFIDENTIAL. SIRC is a SBA certified Women-Owned Small Business (WOSB). This is Confidential Pricing.

All maintenance and support services on this quote are quoted as prepaid annual maintenance unless otherwise explicitly specified.

Manufacturer Terms and conditions apply except where specifically contradicted by the FAR Clauses.

If you are a commercial entity, applicable sales tax will be added to the Invoice, unless you provide a Sales Tax Exemption Certificate.

Tariff may be added depending on the policies issued by Federal Government. Please reach out to SIRC before awarding to verify the Tariff cost.

Any open box return for HP Print hardware is subject to approval from HP and a minimum 25% restock fee.

All prices are subject to change without notice

This quotation, and any order placed in reference to this quotation, is governed by **HP Worldwide Limited Warranty and Technical Support which is attached via separate document**, and can be found at https://www.hp.com/us-en/privacy/limited_warranty.html/.

SIRC Confidential 2/2 D25-H8291